SECTION 3 | Test 9

1 5305=5+ 1555

1000

2 10% of sixteen thousand =
3 4375%g= g g
4 f2-(27p+65p)=f f
5 21450ml-0.51= ml mil
6 04+ = 0.476
U8 £1.76:% 5= £
8 0.75km= m+ 325m m
9 550 = 13.07 Find x. 100
10 38min+2h+47min= h min h min
11 a 10% of £20.40 = af

b 23% of £20.40 = b £
12 of45cm =" mm mm

1 Which of these numbers are factors of 757
5E6 5 79|

2 Findthemeanof 3, 1.4, 2 and 2.6.
3 Write a % as a mixed number a
b 5% as an improper fraction. b

4 \What is the cost of 400g at £1.50
per 3kg? asive

5 By how many is 450 x 1000 less
than —;- million?

6 By how many degrees does the

temperature fall from 8°C to -5°C? 2

7 25% of Max’s mohey is £35.
Find the whole amount. P

8 Approximate to the nearest
whole number.
a 7/8.63 ai
b 12.475 b

9 By how many millimetres is 95.4cm
less than 1m? =it

10 Find the least number of pennies
which must be added to 92p to make
the amount exactly divisible by 6.

11 What percentage of 2L is

a 400ml a %
b 100ml? b % |
12 Find the
volume of
the box
in cm?. cm?

1

2

10

"

12

By how many thousandths
is 1.057 less than 27

A 0 By how many
W degrees is the
N\ reflex angle at
g O greater than
the obtuse
angle at O?

Ellie spends % of her money on bus
fares and 5 on sweets. What fraction
of her money is left?

A cyclist travelled at 24 km/h for
1 hour. How far did she travel?

Read as accurately as
possible the mass
shown by the pointer.
Write the answer

in grams.

S5kg —

—

1IIIIIIl

Gl

e e

The population of Town A is a quarter
of a million. The population of Town B
is fifty thousand less than Town A.
What is the population of Town B?

How much change is there out of

£15 after spending £9.50 and £3.20? £

Wirite these decimals in
ascending order.

5.03 035 0.5 305 35

Schofield & Sims

thousandths

A bus runs at intervals of 25 min.
What are the times of the next
two buses after 08:15?

By how much

Buy today for £60 is it cheaper

or pay 10% weekly
for 12 weeks

A rectangular path is 9m long and
80cm wide. Find its area in m2.

Ravi is given £85 as birthday gifts,
He spends 30% and saves
the remainder.

a What percentage does he save? a

b How much money does he spend? b f

topaytoday? £

%

km



Mental Arithmetic 4

1

s

10
1
12

Write in digits six hundred and two
thousand five hundred and eight.

£0.27 x 40 = £

2 of 960 =

a 1%of£17=1p a p
b 7% of £17 = £ b £

10.06 = = thousandths thousandths
£2.30 = three 50ps + two 20ps

+  10ps 10ps
32 x 4= _ :
180° — (72° + 36°) = 2
300g +450g + 350g = kg kg
2h 15min—=50min="h  min h min
2fcm < 7= BBm Bcmn S =)

B Answer

1

10

n

12

By how many is 0.3 million less
than § million?

What length in metres is 6 times
7m 30em? B m

How many times is 2% contained
in 507

Find the total of 17p, 53p, 24p and 7p.
Write the answer in £s. £ =

Write the 24-hour clock time which
is 7h before 4.35 a.m.

What fraction in its simplest form

is equal to
a 8% gz t-s bty
b 35%? b

By what quantity is 920ml less
than 1.21?

Increase £30.50 by 10%. A

If the distance from A to D is 14km,
find the distance from B to C.

A
" anm B 325k

ml

Find the cost of 0.3m at £4.80
per metre. £

The perimeter of a rectangle is 65cm.
Its length is 24cm. Find its width.

10 doughnuts cost £2.09. Find the
cost of one to the nearest penny. P

__€m

1

2

10

n

12

SECTION 3 | Test 10

How many envelopes costing 3p
each can be bought for £2.40?

ABCD is a parallelogram. Find in degrees
5 P a £ BAD _a %

D C

Share £5 between Henry and Amy

50 that Henry has 6p each time Amy
has 4p. How much does each have?
Henry £

Amy £

A man walked steadily at 4km/h from
11.00 a.m. to 2.30 p.m. How far did

he walk? km

From the largest of these decimal
fractions take the smallest.

| 033 03 003 0333

1em? or 1ml of water has a mass of 1g.
A jar holds 3%[ of water. Find

a the volume of water in cm? a3 cm?

b the mass of the water in kg. o} kg

How much is saved by buying 15kg
at 16p per kilegram, instead of the
same mass at 9p per %kg?

Find the
ageon 1
September
2010 in years
and months of

Date of birth
1.3.96
1.10.94

Riaz
Sophie

a Riaz

b Sophie.

The area of a hall is 60m?.
Its length is 8m. Find

a its width

b its perimeter.

o o
L

a What fraction
of the
circumference
of the circle

A @ B isthearc AB?

b If the circumference measures
188.4cm, find in millimetres the
length of the arc. b

Cheese costs £2.60 per 2kg. Find
the mass in kilograms and grams
of cheese which costs £7.80.

mm

Box A measures 8cm long, 9cm wide,

4cm high. Box B measures 10cm long,

51 cm wide, 6cm high. Find the

difference in their volumes. T Fur _



SECTION 3 | Test 11

—

2 B?D 2 =1 £
3 (49 +8)=100-
4 90% of £300 = £
5 S51:8="ml ml
6 10- -‘130 =
7 0.246 =2 tenths + thousandths thousandths
8 =& 235 =0 % a %
b007= % b %
9 1.25kg-600g= g g
10 nine 5ps + three 2ps + three 20ps
=f £
11 3 of36cm= " mm mm
12 2h49min +53min=h  min h min
B Answer
1 By how many is 90200 less than
one hundred thousand?
2 Find the total number of days in
February, March and April in
a leap year. days
3 2 How many
b g degreesin
the reflex
angle AOB? 2
4 Find the cost of 90cm of cloth
at £3.70 per metre. f
5 How many times is 400g contained
in 2.4kg? I
6 Of these numbers which is
the smallest?
IR T e o i S A
7 What is the difference in millilitres .
between 2.8l and 3.717 = < ‘mig
8 Write as a fraction in its lowest terms.
a £4.50of £18 a
b S5min of 1h b .
9 A strip of plastic 4m 200mm long is
cut into seven equal pieces. Find in
millimetres the length of each piece. B mm
10 Approximate
a £29.50 to the nearest £ 1y o R
b %p to the nearest 1p. b p
1 9 3 p Find the sum of money
5 Y £x which was divided by 5. £
12 The diameters of two circles are 9.4cm
and 15.8cm. What is the radius of
each circle in millimetres? ~.mm mm

10 x10%x10%x10x10=

10

i

Schofield & Sims

Which numbers below 50 have
both 2 and 7 as factors?

What is the date of the third
Wednesday in July if 1 July is

a Sunday?
June | July | Aug | Sept The mo.l’lthly
; : — rainfall is
40mm | 23mm | 42mm | 35mm g.wen s

millimetres. Find the mean rainfall for
all four months.

60kg of mortar is mixed from 4 parts
of sand and 1 part of cement.
Find the mass used of a sand a

b cement. b

Write this number in words.
(7 x 10%) + (1 x 10%) + (9 x 10)

How many degrees are there in a
turn from W to SE

a clockwise a
b anticlockwise. b

The diameter of
circle A is 9.4cm.
The diameter of
circle B is 5.8cm.

How far apart are the two centre
points in millimetres?

a Find the area of a square with
5cm sides. a

b How many times greater is the
area of a square with sides
double that length? b

How much money
is saved by buying
24 stickers in groups
of six?

Stickers
7p each
or 6 for 40p

AB and CD are
parallel lines. Find

a angle x a

b angle y. b

Grace won a prize of £800 which

she deposited in a bank at an interest
rate of 5% . How much interest did

she receive at the end of 1 year? £

a How many cm
cubes can be
fitted into the

bottom of

R~ e

b If the volume of the box is
240cm’, find its height. b

the box? a

mrm

mm
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SECTION 3 | Test 12

P 55+17=0 x9
2 £095=50p+20p+  5ps
3 23m-90cm= cm
4 1000000 =  thousands
= hundreds
5 380gx9= kg
6 7xy=7532.FHndy.
7 a 10%of £27 =£
b 1% of £27= ' p
8 % + % +3=
9 2050+ " ml=25l
10 360° —(75°+ 80° +130°) =
11 zof £90=
12 407 x8=

Sps
cm

Th

1 Which of the numbers are multiples
of 4, 6 and 9?

24 36 54 60 72 |

~

How many kilometres are there in
seventeen hundred metres?

Decrease €44 by 10%.

How many hours and minutes
from 09:48 to 11:19?

S W

wvi

What fraction in its simplified form is

=

a the patterned
part

b the shaded
part [

¢ the unshaded
part? []

6 Find the cost of 2.251 at 28p per litre.

7 How many biscuits each costing 7p
are bought for £2.73?

8 Write each score as a percentage.
a 18 out of 20
b 35 out of 35

9 Five oranges cost 80p. What fraction
of 80p will three oranges cost?

10 By how many is 300 050 greater
than % million?

1 Find { of £1.68 to the nearest penny.

12 Find in cm? the volume of a box
15cm by 10cm by 7cm.

_— km
=
h nin
A s e
b =
Lo i) = i
e e P 1)
a %
b %
y p
cm’?

1

10

"

12

Find the missing numbers in
this sequence.

0.125, 0.25, 0.375,

(]

What number when added to
48 three times gives a total of 120?

A fruit cake has a mass of 1.5kg.
If 40% of the mass is fruit, find the
mass of the fruit in grams. g

A line 8cm long is drawn to the scale
Imm to 0.1m. What length does the
line represent? m

Which of these fractions is less than l—?
‘1 e S

ST Bk en b = 5

A snow removal vehicle spreads
grit at the rate of 125g per 1m?.
How many kilograms are required

to grit a path 50m?? kg
How far will a cyclist travel in 3 hour
if he cycles at 18 kilometres per hour? km
The length of a rectangle is three
times its width. If the perimeter is
192cm find
a the length G- e T
b the width of the rectangle. 0) st T o (w00
O is the centre
of the circle
the radius of
which is 7.4cm.
@ Find
A B a the angle at the
centre AOB E p—
b the length of the straight line AB. b __m
Of 150 children in a school 60 can
swim one width of the pool and
45 can swim one length of the pool.
What percentage of the children
can swim
a the width ae %
b the length? b¥- 0O

Seven children shared a money prize
equally. Each child received £42
and there was £6 left. Find the

total value of the prize. £
The drawing
A _ showsa
l’g block of
- gold.
Q‘m — \Og{ﬂ Flnd |tS
volume,



CH ECK"UP TEST | Number Schofield & Simg

Q s- s- 10 x 10 = (6x6)+5= 27'x 8=
8+ 8= 4x 7= OxN)+7= 49x b=
0+ 7= 9x 3= (5x8)+4= 1OV 7 =
7+ 8= Bo%s Gi= (8x0)+6= 93 x 10=
44 7= 1x 8= (10x5)+ 8 = 180 x 10 =
18+ 9= 5x 9= (8x8)+6= 95 x 20=
15 + - 7 x 7= B3x3)+2= 86 x 40 =
3+29= 0x 0= (Ox8)+ 7= 100 x 80 =
7 +36= 4 % B= (4x9)+5= 98 x 100 =
14+19= 9x 7= (7x6)+3= 204 x 100 =
12— 5= 24 + 3= 29+ 3= r 102 + 3=
9- 0= 40+ 8= 67+ 8= _ r 336 + 4=
11- 3= O 6= 21 =4 = r 648 + 6=
14— 5= 54+ 9= e 6+7= o 530 + 10=
15- 9= 7+ 7= o= 39+ 5= 0 800 + 10=
24- 6= 2+ 7= = 709 r 540 + 20=
26— 9= : 81+ g= =S5 r 420 + 60 =
32— 8= SEP = 36+ 4= = 13w r 1050 + 50 =
58— 9= RS YeR 9= = S fmaeoaRa = 4000 + 100 =
47-20 = o 56+ 8= e deg s s e S 900 00 =
e Write these numbers. o Write as decimals. How many tenths equal
Fifty thousand and seven e M 47 tenths T 68 -
Sixty-two thousand four hundred 201 tenths = 14.9 B
and two = 4 hundredths e SR e
One hundred and fort
S y thousand = 309 hundredths |, many
_ _ 580 hundredths hundredths equal
Two hundred and six thousand and nine
603 thousandths | 093 =
SO o = 75thousandths | 705 -
PO tR s o0 5 = g 3009 thousandths i 327
(4x1000)+(6x100)+(3x10)+8= 3 8 _! e
ER SR e e ' How man
(9 x 1000) + (7 x 10) + 5 = e o . y
10+ 166+ 7560 = . = thousandths equal
SxCI000 < 10) === 5 tenths + 0.003
1 million — 2 hundredths = | 0.078 -
13 million e 17 hundredths and =52 o
1 million ST 6 thousandths = 28 A
2.7 million S SO . 4.09? =
D503+ 07= 6.45 x 10 = R ~ | @ Find the value of x
DB 54 = "N . 0.873x10= | 402:10= e Xx+7=24
0.06 + 1.04 = | 2.03x100 = | 34:100= e S =)
374+ 035= | 0.092 x 100 = S BT e By Xx+15=5
028+1625= | 164x1000= | 608+1000= . -x=16
0.053 x 1000 = : 1035 + 1000 = o —— X—63=10
2- 14= : 18x5= 56+8= e w8 10:x x=25
14- 09= 4 %163 = | 10.25+5= i xx4=18
10-875 = 0.09 x 8 = I 0.636 + 6 = > =5 S
49376 = 4 x 208 = | 477 +9= O .
0.7 -0.58 = 1.063 x 6 = | 8.032+8= 9+ x =TT




Mental Arithmetic 4

CHECK-UP TEST | Number

3 2 g =
2= 16 31 Mes 8 4 Sigs e 4 _ 40 S 500
' i Mt g . T 10 -
Write each fraction in its simplest form
2= = = 20 = 2
s = ‘ - S o . e
Change each improper fraction to a mixed number.
I‘f_ = —— —35l = %3 = E = E = ﬁg o
§ 10 = SEep——
Change each mixed number to an improper fraction.
3 _ 201 4
74—___ 83_ = 9%:_ 4%= 10§=__
e Write as a fraction in its simplest form. o Find Find thewholen o
f 3
50 of 75 S 3 of 70 - % is 35 =
30[) of £1.00 = ! _3, of 64 2w =y % = 27]’3 -
25am of Im S 110 of £1.20 . p | sis36cm  m
12/ 30kg - 5 of 421 1| Zisfl40 £
70 of 100 = % of 350g g % is 800g g
800g of 1kg = of £1.00 p | 3is5000
400ml of 21 = £ 2 of 1200 = e tis Al el
@ wirite as percentages.
a 33 out of 100 % b 87 out of 100 % ¢ 9outof 100 % d450utof100 ! %
a 0.65 = % b 038 Pa.. 075 %% —idei3 %
2 1 5 % ot % df =
Change each fraction first to hundredths, then write it as a percentage.
19 = = T e
G, o LS ——— Cotesson—te
3 e = e =
3% = J0 = —% bs. = 5 = — % S0 o - %
Fill the blank spaces in each of the columns. The first is done for you.
a b c d e f g h i j k I m
Fraction in its i ik =1 =1
simplest form 2 5 10 20
Decimal fraction| 0.5 | 0.25 0.4 0.8 0.3 09 0.01
Percentage 50% % | 75% % % | 60% % % % | 70% % % %
e Find the value of Find the value of o Find as a percentage
25% of 120 50% of 14p ) 6 of 24 %
50% of 35 20% of £6.50 et s 75 of 15 Fesl. 9%
75% of 400 | 100% of 93p _— o) 40p of 50p %
10% of 1000 | 10% of 2.5kg oy - g 93p of 93;p e
30% of 90 . 5% of 4l = Sarr 200g of 3kg %
70% of 200 30% of 2m cm 700ml of 11 %
90% of 160 he 1% of £1.00 p 25p of £2.50 %
20% of 95p _p | 7% of £1.00 P £1.50 of £2.00 %
40% of £20 £ o 3% of £3.00 R 7p of £1.00 %
| 12% of £9.00. £ 30cm of 1.5m. %

60% of £15. £



CHECK-UP TEST | Measurement

Schofield & Sims

O 0o- - © 50+ 30+ 17p- o | @@ Find the cost of
2p = ¢ 150+ 8D 6D = D 10 at 15p each £
£0.63 = p 14p+7p+12p = P 100 at 3peach £
£0.19 = D 5p + 11p + 15p + 4p = p dat13peach £
£0.04 = o 6p + 19p + 21p + 18p = P 8at2/peach £
£137 = 10ps P 37p + 85p = £ 5at45peach £
£3.09= 20ps p £1.03 + 49p = £ 19 at 4p each D
£10.80 = 10ps p £2.57 + £0.60 = £ 27 at /peach. £
seven 10ps + six 2ps = D 43p—19p = P :gi;;i?;gom when
three 50ps + nine 10ps = £ 95p - 18p = p e £.15 P
three 10ps + five 5ps + 9p = p £110-84p = P S P
£0.85=five 10ps+ 5ps= 5ps £1.70-93p = P p
£1.20 = twelve 5ps + = 20ps = 20ps £230-£0.80 = £ G fp P
£2.30 = three 50ps + I 20ps = 20ps £2.06 - £1.40 = p Jcostes 28 P
9 cost £3.06. D
o Find the change from e Make up the given amounts using the least number
20p after spending a 3p p bsp D of cains. The first one is dclme for you.
20p after spending a 12p p b 14p D Amount | 50p | 20p | 10p | 5p | 2p | 1p
50p after spending a 37p p b 19 p 2=y ! 1 ]
c 26p P dc5p D 39p
= . 67p
£1 after spending a 81p p b ée6p p
c45p _ p dp p /8P
. 86p
£5 afterspending a 73p £ b £f409 p
c£254 £  df198¢ 240 o
@ s4cm- __m | @ 204m= ~mm | @) Find the cost of
309cm = = s m 1.5m = = mm 500g at 76p per kg p
1075mm = m 2.65m = £ =i 100g at 50p per kg p
2305mm = G m 0.85m = ~_am 2509 at 36p per kg Nl — 7]
750mm = m 8.37km = m 200g at £1.20 per kg giamssey [}
100m = B m 0.6km = 3 m 1.5kg at 64p per kg — 5
925m = km 10.075km = === 100g at 45p per 1kg e -
1605m = km 1.325kg = =BT g 3009 at £1.10 per 1kg P
860g = kg 0.05kg = SEes. - ng 25¢m at 92p per m =p
1400g = kg 3.72kg = = g 10cm at £3.50 per m Swlael™
700ml = Sp-#tmal. 1.3l= :: ~ml 60cm at £2.20 per m iV S
3310ml = A5 il 4.25l = ml 1.3l at 60p per | o .
800ml at 50p per | P
o How many o Change to 24-hour clock times. ° Find the period of time between
min in 2h _min 7.35a.m. L= 8.35 a.m. and 10.16 a.m. h_ min
min in 12h ~_min 12.05 p.m. % 5.25 a.m. and noon h  min
seconds in 5min g 3.27 p.m. 4.30 p.m. and 7.20 p.m. h__ min
weeks in 1 year . wk 10.55 p.m. T e 11:35 and 14:15 h min
days in 1 year 2 d Change to 12-hour clock times. 03:40 and 06:10. ~h___min
days in April d Use a.m. or p.m. How many days inclusive
days in July 2 09:20 g from 28 Jan to 9 Feb d
days in October? d 14:56 oo, S from 17 May to 5 June B g
00:35 — from 26 Nov to 3 Jan? el
21116
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CHECK-UP TEST |

Men Measurement and geometry
: the nearest
o Approx;mate to o A ;
PProximate to t}
whole number 49.255 Mmetre ¢ legn;a;;ﬁ
whole number 203 metre 19m ?;rgrnm :
m
hundred 6057 kilogram 16kg 509 kg
hundred 19503 kilogram 7.55kg k
thousand 59770 2kg 9kg 800g kg
thousand 109495 e ceat -
Find to the nearest penny. a 35 of 97p p b 1 of £2.50 D c 8335
a P
@ How many degrees in each of the angles x and y? @ Frind the missing angle in each of the triangles. Then
name each triangle according to
m : a the angles b the sides.
@ oﬂ m A_ngles in a Name of b Name of
Rr triangle triangle (angles) | triangle (sides)
B8 212908
angle x ° anglex ° anglex ° 46° | 570 | o =
angle y ° angley ek 60° | ° |e0°
S 2583 82
b= |c5rEs|a= =
3 & \ \(\
Find the angle x in a the rhombus =2 b the trapezium ! $
¢ the parallelogram o d the irregular quadrilateral ¥

o Give the unit of measurement in the answer for

Write the missing measurement in each of the rectangles.

each example.
‘; - | Area 50m? 25¢cm’? 16m?
‘ o perimeter of square Length 13.5¢m
E
; area of square —— | | Breadth 10m 9cm 2.5cm 50cm
i - _ .
r 1S penmneter of rectangle ~ | Write the missing measurement in each of the triangles.
N x i
83m area of rectangle seaeSheaes il pas 16cm 45m 10cm
i
|3 _ Height 8cm 12m 7cm
lg area of triangle _ =i g iten 90cm Aoy
~ 28 >
Write the missing radius or diameter.
; i 15.3cm 27.6cm
diameter of circle Radius
Diameter 36mm 9.8cm

How many cm cubes

a fit into the bottom
of the box

b fill the box?

Find the volume of each of these boxes.
length 13cm, breadth 8cm, height 2cm
a | length 7cm, breadth 4cm, height 2.5¢m
b cube of 6¢m side




Section 3 Test9

Uﬂ\lmlﬂhWN-‘E

-
o

-h
=

Y
N

6
7
8

10

ANSWER
5305 =5+ M %
1% of sixteen thousand = 160
4375kg = g _ 4375¢
£2 - (27p + 65p) = £ £ 108
20450 mt - 0.5¢ = m{ 1950 m¢
04 + [l = 0476 0.076
£1-76 x S £ 880
0.75km =" m + 325m 425 m
765 = 13.07 Find x. 1307
38min + 2h + 47 min =
h' min 3h 25 min
(a) 10% of £20-40 (@ £ 204
(b) 23% of £20-40 (b) £ 051
gof45cm = mm 75 mm
ANSWER
5 6 3 7 8

Which of these numbers are factors of 75? 3 5

Find the average of 3, 1.4, 2 and 2.6. 2.25
Wirite (a) A—; as a mixed number (a) 5%

(b) 52 as an improper fraction. (b) >
What is the cost of 400 g at £1-50
per 3 kg? £ 120
By how many is 450 x 1000 less
than 3 million? 50 000
By how many degrees does the
temperature fall from 8°C to — 5°C? 128¢E
25% of my money is £35. Find the
whole amount. £ 140
Approximate to the nearest whole
number (a) 79.63 (a) 80

(b) 12.475. (b) 12
By how many mm is 95.4 cm less
than 1 m? 46 mm
Find the least number of pennies
which must be added to 92p to make
the amount exactly divisible by 6. 4
What percentage of 2 litres is
(a) 400 m¢ (a) 20%
(b) 100 m¢ ? (b) 5%
2 Find the
volume of the
box in cm?.

240 ¢m?

ANSWER

By how many thousandths is

1.057 less than 2? 943 thousandth

. 0O By how many degrees
‘ is the reflex angle AOB
greater than the
B obtuse angle AOB? 100°

A girl spends 5 of her money on bus
fares and 15 on sweets. .
What fraction of her money is left? T

—_—

Find the distance travelled in 1 h 40 min
at a speed of 90 km/h. 150k
e ——

W From the scale on the
=] spring balance read as
—  accurately as possible
—] the mass shown by the
pemn> 1 pointer. Write the
6 kg _ 4 answering. 5650 g

The population of a town was a
quarter of a million, reduced later by 4%.
By how many was the population

reduced? 10 000
How much change is there out of £15
after spending £9-50 and £3-20? £ 230

The total length of 5 laths is 16.25 m.

Find in m and cm the length of
3 laths. 9m 75cm

| Abus runs at intervals of 25 min.

What are the times of the next two

buses after 08.15? 0840 09.05
By how much
%&SH PRICE £60 is it cheaper ¢ 12
10% WEEKLY FOR | to pay cash?
12 WEEKS e ——
A path is 9 m long and 80 cm wide.
Find its area in m2. 7.2m?

Ravi is given £13 as birthday gifts.
He spends 9% and saves the remainder.

(@) What percentage does he save? (a)

(b) How much money does he
spend?

91%

Gl ety



Section 3 Test 10

10

11
12

LT

ANSWER

Write in figures
six hundred and two thousand five
hundred and eight. 602 508
Z 0f 960 640
(a} 1% of £17 (a) 17P
(b} 7% of £E17 @) £ 1419
10.06 =  thousandths 10 060 thousandths
£2:30 = 3 FIFTIES + 2 TWENTIES +

TENS 4 TENS
3i x 4 15
180° — (72° + 360) 72°
300g + 450g + 3509 = | kg 1.1 kg
2h 15 min — 50 min =

h " min 1h  25min
2remix ./ = m cm Tm  89cm
£16-56

8 £ 2:07

ANSWER

By how many is 0.3 million less
than 3 million? 200 000
What length in m is 6 times
7m30cm? 438 m
How many times is 25 contained in 507 20
Find the total of 17p, 53p, 24p and 7p.
Write the answer in £s. £ 1:01
Write the 24-hour clock time which is
7 h before 4.35 a.m. 21.35
What fraction in its lowest terms is 5 -
equalto (a)8% (b)35%? () 35 () =

—_

By what quantity is 920 m¢ less

than 1.2 litres? 280 m¢

Increase £30-50 by 10%. B BBSS

C,25kmD

lf the distance from A to D is 14 km,
find the distance from B to C.

Find the cost of 0.3 m at £4-80
per m.

The perimeter of a rectangle is 65 cm.
Its length is 24 cm. Find its width. ____B_iﬁn-

10 articles cost £2-09. Find the cost
of one to the nearest penny.

__7.05km

. £ w4

21p

P

1

ANSWER
How many articles costing 3p each
can be bought for £2:40? 80
A g ABCDisa
parallelogram.
Find in degrees
/1405) (a) « BAD (a) 140°
D
C (b) 2 ABC.(b) 40°

iy

Share £5 between Josh and Amy so
that Josh has 6p each time Amy has 4p.
How much does each have?
Josh £ 3 Amy £ 2
A motorist drives from Liverpool to

Glasgow, a distance of 350 km, in 6 hours.
Find to the nearest km his

average speed in km/h. 58 km/h
0.33 0.3 0.03 0.333

From the largest of these decimal

fractions take the smallest. 0.303

1 cm?® or 1 mt of water has a mass of 1 gram.
A jar holds 33 ¢ of water. Find

(a) the volume of water in cm? (@) 3500cm?

(b) the mass of the water in kg. (b) 3.5kg
How much is saved by buying 15 kg
at 16p per kg instead of the same
mass at 9p per 3 kg? 30p
Find the age on the Dates of birth
1st Sept. 2010 in
years and months Riaz 13595
f
- Sophie | 1.10./94
(a) Riaz (@ 14years 6months
(b) Sophie (b) 15years 11months
The area of a hall is 60 m?2. Its length
" is8m.Find (a) its width (a) 7.5m
(b) its perimeter. (b) 31m
(a) What fraction of
the circumference
of the circle is .
the arc AB? (a) 3
@ B (b)If the circumference
A measures 188.4 cm,
find in mm the
length of the arc.
(b) 628 mm
Meat costs £2-60 per i ka. Find the
mass in kg and g of meat which
costs £7-80. _1kg 5009
, | Box A measures .
' 8 cm long, 9 cm wide, 4 cm high.
Box B measures ’ :
10 ¢cm long, 53 cm wide, 6 cm high.
Find the difference in their volumes. 42 cm?



Section 3

Test 11
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ANSWER
0 x 10 x 10 x 10 x 10 00 000
67D x & = £ £ 402
49 + 8) = 100 - 43
Yo A5 30N C :_.L'
S fifres = 8 = mi 625 mi
0— 7= 235
0.246 = 2 tenths + " thousandths
46 thousandths
ad) = = (2) 129
b) 0.07 = % (o) 7%
25kg — 600g = g 650 g
9 AVES + 3 TWOS
+ 3 TWENTIES = £ £ 1-11
z0f3.6am = mm 27 mm
2h49 min + 53 min = h min
3h 42min
ANSWER
By how many is 90 200 less than
one hundred thousand? 9800
Find the total number of days in
February, March and April in 3
leap-year. 30

A

b B How many degrees in

the reflex angle AOB? 288°
Find the cost of 90 cm of cloth at
£3-70 per m. 9333
How many times is 400 g contained
in 2.4 kg? 6
Of these numbers which is the smallest?
141, 1.01, 1.111. 1.4 1.01
What is the difference in m{ between
28fand 3.7 ¢? 900 m¢

Write as a fraction in its lowest terms
(3) £4-50 of £18 1
(b) 5 min of 1 h. (a) i (b) 313
A strip of plastic 4 m 200 mm long is
cut into 7 equal pieces.
Find in mm the length of each plece,

600 mm
Approximate e

(3) £29-50 to the nearest £ (a) £ 30
99
(b) 7p to the nearest penny. (b) 50

93p  Find the sum of money

5 JEx which was divided by 5. £ 465

The diameters of two circles are

9.4Icm and 15.8 cm. What is the

radius of each circle in mm? 47 mm 79 mm
—— — '_. il

ANSWER

1 Find the numbers less than 50 of
which both 2 and 7 are factors.____l% 28 4

2 What is the date of the third Wednesday
in July if the 1st of July is on
Sunday? ) 18th
| ] Them
3 June | July | Aug 55_.2. i ;Vzgirigh;¥;1§|r1fall
Find the average
rainfall for
the 4 months.

| | L
40 mmiEB mm |42 mm {35 mm
I

35mm
4 60 kg of mortar is mixed from

4 parts of sand and 1 part of cement.

Find the mass used of

(a) sand (@ 48 kg

=
(b) cement. @———1_2_59
5 Write this number in words.
(7 x 10%) + (1 x 102) + (9 x 10)

seven thousand one hundred and ninety

6 How many degrees are there in a turn

from W to SE (a) clockwise (a) 2_2.5_
(b) anticlockwise? (b) 1352
7 Diameter of circle A
is 9.4 cm.
Diameter of circle B
is 5.8 cm.

How far apart are the two

centres in mm? 76 mm

8  (3) Find the area of a square of

5 cm side. @ 25cm’
(b) How many times greater is the
area of a square with sides double
that length? e
20 [ stickere How much money is
7p each saved by buying
or 6 for 40 24 stickers six
: at a time? & 8
Which triangle
A or B has
o the greater area
3 and by how
- many cm??

Bam A py 3am

11 A boy won a prize of £25 which he
deposited in a bank at an interes‘;
rate of 6%. How much interest did 1,50
he receive at the end of 1 year? B
(a) How many
centimetre cubes
can be fitted into the
bottom of the box? 60
e —
(b) If the volume of ;
 the box is 240 cm”,
find its height. A e
g_tl):——-'"-‘j

) A0 ¢



e ———————
ANSWER
B 55 +17=Mx9 g
smmmm £0-95 = 1 FIFTY + 1 TWENTY 4+ 3=
2 FIVES S Fves
3 23m-90ccm = cm 1405;
1000000 = = thousands 1000 thousands
__-_______‘————_______

_ = hundreds 10 000 fungreg,

@ 3809 x 9 =11kg 3.420 kg
__'___——-——_.__

7xy=17532 Findy. 1076
(@) 1% of £27 @) 7o

(b) 8% of £27 b) £ 216

1 3 3 =

I e T T%
W 20500+ Bme= 2} 450 m¢
808 360° _ (75° 1 80° + 130°) 75°

| Fof £90 £ 75
I 407 x 8 32.56

E 24 36 54 60 72

Which of the numbers are multiples

of4 6and 9? 36 72
How many km are there in seventeen _
hundred metres? 1.7 km
B occrease caa by 10%. £ 3960
B&l How many h and min from 09.48 \
t011.19? 1h 31min
E What fraction in its lowest terms 5
(a) the part -
shaded @ 3
(o) the part ——
shaded =—— (b)

() the part
unshaded? {c)

F

1

=

. Findthecostofz.zsratzsppaf- 8
Howmanybisacuitseachcostingm 39

are bought for £2-73?
Write each score as a percentage.
a (@) 18 out of 20 (@ 30%
. ®)350utof3s, () 100%
. 3 articles cost 80p. What fraction of 5
:_rpwiBartidescost? 5
h;m?saooosog 50 050
. 'wéﬂ‘il-ﬁatoﬂiempemr 34p
. ﬂi‘m‘ﬂemda box
1Sanby 10cmby 7 om. 1050 am®

[ mp—t
1 FING e Mssing numboere i b o2
N AN D P RNTRCTS S ST
/.1£3,0.25,0.375 05 . 08675
3 DL
AT a s
Nat nurmnae o = -
2 N SIIETWNeN 200eg {0 42 three
mes aes = + - —
s - -
== - - < Wi O L% 28
date and rascin " == ==
3 '{‘A’Jq_s L 25 ’_:(.._.—,::;;"5_,. i S ko
P =2 > 50
T 40 of the e & : =
- & - ﬂa-: st find the
riasce &
mass ne T -
. - - - -
= = 3 ¥y
— =
;. ’:.;f?— FUEry e = S
4 e 8 cm long is drawm to the
sCale Tmm i N 1 =
= ST -~ - —
YYEia = 3 GG TS T T e et =
ol LR = = = =X
——

6
7
8
(b) the breadth of the
reciange. B 24 am
__9 ! O & the cenre of the arge the
= radas of which s 74 om. Fnd
{3) the angle zt the
g centre AOS & 60°
N S A (b) the length of the
stagh:Ene A8 b)) 74om
(c) Name the tmangie AOS
according 1o s Sides. (s} equisieal

Oflwéi}drminaﬁwdﬁﬁcansxmim
of the pool, 45 can swam 1 length of the pool.

swim (a) the wadth @ 0%
{b) the length? ®  30%

7 children shared a money prze

equally. Each child recenved £2p

and there was 6p left.

Find the total value of the prize. £ 3

1 The drawing shows 3

= block of metal

¢ @Fndits

_ ; vaolume.

505 . R 300 an®
if the mass of the metal & 7 times that of

@m,msﬂnmdmehockatg?

21 kg

page 30 and work for the fourth
mmm Test 2. Enter the result and the

time
date on the chart.




CHECK-UP TEST

A a) (b) B c
5% B 10 x 10 100 (6 x B) + al 27 X 8 216
8+ 8 6 4x 7 28 QO x 1)+ 7 .Iti if\u 1“1
0+ 7 7 9x 3 27 (5 x8) + L “ il =749
7+ 8 15 85¢ 6 48 (8 x 0) + 6 93 x 10 930
ot ——— i:509 8 8 (10 x 5) + 58 180 x 10 1800
18+ 9 27 Sx 9 45 (8 x 8) + 70 95 x 20 1900
15+ 8 23 7% 7 49 (3 x 3) + il 86 x 40 3440
3329 32 0x 0 0 (9 x 8) + 79 100 x 80 __8000
7+ 36 43 4x 8 32 4 x9) + B4 98 x 100 9800
4+19 33 9x 7 63 (7 x 6) + 45 204 x 100 20 400
12- 5 7 24 = 3 8 29 -3 9 rem. 2 102 = 3 34
9- 0 9 40 = 8 5 67 -8 8 rem. 3 336 - 4 84
= 3 8 0= 6 0 214 5 rem. 1 648 =~ 6 108
4= S g 54 - 9 5 6=7 0 rem.6 590 = 10 PSG
1I5- 9 6 =/ 1 39-5 7 rem. 4 800 + 10 80
24 - 6 18 42 « 7 6 709 7 rem. 7 540 + 20 27
26 - 9 17 81 = 9 9 51 =6 _8 rem. 3 420 + 60 7
7 Je 24 36= 4 9 13=7 1 rem. 6 1050 = 50 21
58 - ¢ 40 63 = 9 T 52 =5 10 rem. 2 4000 = 100 40
47 — 20 27 56 = 8 7 4 -9 0 rem 4 2900 = 100 29
: D Wirite these numbers. | E Write as decimals. F How many tenths equal
F | | 4'.7. tenths — 6.8 68
Fifty thousand and seven 50 007 201 tenths 14.9 149
Sixty-two thousand four hundred and two 62 402 4 hundredths 30.47 ’“36‘;
One hundred and forty thousand and eleven 140 011 309 hundredths et
Two hundred and six thousand and nine 206 009 580 hundredths How many hundredths equal
: 0.93 93
200005 4005E10 30406 | 603 thousandths 0.603 e
100 000 + 7000 + 50 + 8 107058 | 75 4potsandiis 007 7.05 _705
(4 x 1000) + (6 x 100) + (3 x 10) + 8 4638 | 3009 thousandths 3‘009 == =
9% 1000) + (7.x10) + 5 — 9075 | g4 T+ 1o How many thousandths equal
(3 x 1000) + (4 x 10) 3040 10 + 5+ @5 10.072 0.003 = 3
Hon 1000000 | 5 tenths + 0.078 78
Tz million 1500000 | 2 hundredths 52 152 1520
Aion 250000 | 17 hundredths and 28 2800
2.7 million 2 700 000 | 6thousandths 0.176 4.09? 4090
= ore
503 + 0.7 ;
25 .13 Gt 64.5 79 + 10 7.9 Find the value of x.
5 +1.54 404 | 0873 x 10 8.73 40.2 - ) s 7
0.06 + 1 . Midas 10 4.02 X+ 7 =24 il
06 + 1.04 13| 2.03 x 100 203 34 = 100 = 27
3.7 0.35 ey ) 0.34 5+ x =32 sl
i =, 4.05 0.092 x 100 92 10.7 == 35
0.28 + 1.625 — ./ + 100 0.107 Xk RS =5 b
28 + 1.6 _1.905 | 1.64x1000 1640 | 608 . o 15
2 _14 —=23 | 1035 +1000 1035 | x-63=10 gos
14 -09 S 0T 0.7 10 x x = 25 2.2
10 - 875 1.25 0.09 x 8 ‘Q‘—Z.O = 25 +5 2.05 xx4=18 :
48 - 3.76 1.0 —=L& | 0636 + 6 0.106 T o
.04 7 x 2.08 14.56 477 - g et A 6
0.7 - 0.58 0.12 1 e Ve 0.53 = 0.6 =
' 083 x.6... “63780 | 80330, T 2
= 032418 1.004 9+ x=7x7 —




CHE

CK-UP TEST

e ——

Money and Measures

j 70p = £ 07
& 2p = £ cm(zl B % +3p + 17 29 -
‘ o == 15p + 8p + 6 — &y C Find the cost of
£0-63 = -~ 14 P _ 29
£0-19 = 19 P+ 7p+ 12p 33 10 @ 15peach £ 1.50
. 50 + 11p + 15 = 100 @
£0-04 1 _ 4p 6 i P+4p 35 3peach £ 3-00
£1-37 = _.LEE\IS__ZE 37p+82+21p+ '|8p ——6&9 E@Bpeachi 117
£309 =  __Twenes  op o £ 122 g ipecniSnin
£10-80 _ = 03 + 49p et 5@45peach £ 225
__ﬂs___OE £2-57 e
+ £0-60 £ ;3 g ;Ip eac: 76p
peach. £ 1:89
2 TENS + 6 TWOS 82p A3p= 19 Find the cost of 1 ;ﬁen—_
3 FIFTIES + 9 TENS £ 240 i e  24p YO EoET T =
3 TENS + S FIVES + 9p 64p £1-10 §4 Ve 100 cost £15 15p
£0-85 = STENS + FIVES g __26p 6 cost 84p
o7 £1-70 - 93 __14p
£1-20 = 12 FIVES + | TWENTIES 3 e £0p _77p 4 cost £0-72 18p
£2:30 = 3FIFTIES + " TWENTIES 4 il =0 £ 150 7 cost £2:24 32
=5 =El40 66p 9cost£3:06. _ 34p
D Find the change from E Make up the given amounts using the least
20p after spending (a) 3p 17 (b) 8p 5 number of coins. The first one is done for you.
20p after spending (a) 12p gé (b) 14p _EE AMOUNT  |50p[20p[10p] 5p | 2p | Tp
50p after spending (a) 37p 13p ()19 *—931 23p 1 1 1
(c) 26p 24p (d) 5p 452 39p i s B BT )
£1 after spending (a) 81p 19p  (b)66p 34p 67p 1 =S
(c) 45p 55p  (d)7p 93p /8p L N B
£S5 note after spending (a) 73p £ 427 (b) £4-09 91p 86p M S 1
(c)£2:54 £ 246 (d)£1-98 £ 3:02 94p 112 2
F 84cm = 0.84m (G 204cm = _ 204mm H  Find the cost of
309cm = 3.09m 1.5m = 1500 mm 500 g @ 76p per kg 38p
1075 mm = 1.075m 265m = _ 2650 mm 100 g @ 50p per kg 5p
2305 mm = 2.305m 085m = 85cm 250 g @ 36p per kg 9p
750mm = _ 0.750m 837km = _ 8370m 2009 @ £1-20perkg __ 24p
100m = 0.1 km 0.6 km = 600 m 1650'(9 g f:p 25 f‘E _9369
= g p per 7 kg P
925m =  0.925km 10.075km = 10075m L
860g = _ 0.860kg 0.05kg =" i 50:a" 10cm @ £3:50perm __ 35p
14009 = 1.4 kg 3.72 kg = = 37209 60cm @ £2:20perm £ 1:32
700me = 0.7 ¢ 1.3¢ = _ 1300 m¢ 1.3¢@ 60p per ¢ ~ 7%p
3310m¢ =  3.310¢ 4250 = __ 4250 mf 800 m¢ @ 50pper. __ 40p
- = i Find the period of time between
" HQW m;any J Change to 24-hour clog_}b; ;rrsnes. i Pnd 10.16am. Th 41 min
minin z h a4 | 7.3353,m, 1_5_0.5_ 5 25 a.m. and noon 6h 35 m:n
minin 13 h 75 12 82 h0: 15.27 4.30 pm. and 7.20 p.m. M
$in 5 min 300 el 22.55 11.35and 14.15 2h 40 min
_300 10.55 p.m. Sk 03 40anA.06:10; 2h 30 min
Weeks in 1 year 52 Change to 12-hour clock times. =
days in 1 year 365 Use a.m. of p.m. SO How many days inclusive "
days in April 30 09.20 T from 28th Jan. to 9th Feb. -
days — 14.56 m from 17th May to 5th June
n July 31 00.35 e from 26th Nov. to 3rd Jan.? 39
days in October? 31 21.16 R




CHECK-UP TEST

A Al in the missing numerator or denominator
3 12 2 8 7 21 #_1%_ % 45?) %_ 30
Y= 3= 12 8= 24 =2 | i == {0y
Reduce each fraction to its lowest terms = !
g 3 12 . 0 | 24 } i 45 q
= 3 o E X=x iR S 00 =_T0 i =i
Change each improper fraction to a mixed number. )
2 { - 6 % -5 =% 1 = ' ¥ =133
Change each mixed number to an improper fraction.
= = o ~E oTe] a7 7 3C 5 E5
73 =3 85 =% 55 =_5% 975 = 15 di=7 108 = 7
B Writeasafractioninits C find D Find the whole when
lowest terms.
i
30p of £1-00 i S of 64 40 ais 27p 36p
25cmof 1 m é 7 of £1:20 84 p §::|5,36 cm 45 em
800 g of 1 kg : 2 of £1:00 13 p 3 is 5000 9000
400 mfof 2 ¢ . 2 of 1200 800 gis 240 641
45 of 100 i 109 0f 1 kg. 350 g 70 is £1-80 £ 400
E  \Write as percentages.
- (3)330utof 100 33% (b)87outof100  87% (c) 9out of 100 9% (d)45outof 100  45%
(a) 0.65 65% (b)0.38 38% (c)0.75 75% (d)0.3 30%
(@) 7oz 29% (o) 725 56% () o0 1% (d) 100 13%
Change each fraction first to hundredths, then write it as a percentage.
19 38 3 12
@ % = —5 = _38% 0 3% = 700 12% © 2 = % - 6%
@ 7 = = e 5% i = 80% © % = o5 = 0%
Fill in the blank spaces in each of the columns marked a —m. The first is done for you.
b, 9 lgise) = i |
@ 9 () (i) () (k) M (m
VULGAR FRACTION
(LOWEST TERMS) i | 2 e 2o SRmilE Sl ey | a2 | L
5 5 10 10 10 10 20 100
DECIMALFRACTION | 05 [ 025|075 | 02 | 04 | 06 | 08 | 01 geamlEo7 | F ek | 005 | /0.0
PERCENTA
& GE 50% | 25% | 75% | 20% | 40% | 60% | 80% 10% | 30% | 70% | 90% | 5% 1%
2 Find the value of " Find the value of ; —
F' 25% of 120 30 i 50% of 14 28 Find as a percentage
“ 50%of 35 . | ° treen T m S =
e 7 Zpﬂ_/b of £6:50 £ 1.30 ?% of 15 50%
1000 Of o —?go 100% of 93p —ETQ 40 of 50 m
% of 1000 0 10% of 2.5 k P . P =
30% of 90 27 S%ofag o o 93p of 93p 100%
70% of 200 140 30% of 2 m e 200 g of 7 kg ;4.95;-’?
90% of 160 144 1% of £1:00 -—-QQ_I—C-H—"- 700 méof 1¢ _';f.g.oi
o OI 2P L 7% of £1-00 _"'7'9‘9 i el 5%
0% of £20 £ 800 3% of £3-00 5 £1-50 of £2-00 s
60% of £15. £ 900 12% of £9_0'0 E——_E_ 7p of £1-00 —
s OB 30 cmof 1.5m. 202




CHECK-UP TEST

Approximations, Angles and Shapes

—

A

Approximate to the nearest

whole number 49 55 50

whole number  20% N
hundred 6057 6100
hundred 19 503 19500
thousand 59 770 _—60_00_0_
thousand 109 495 ‘109_000_
£1-00 £27-50 £ 8
Find to the nearest penny (a) ;LU of 97p 10p

s

metre
metre
kilogram
kilagram
3 kg
%kg
litre

(b) § of £2-50

Approximate to the nearest

8m 59 cm 9 m
18 m 700 mm 20m
16 kg 50 g 16 kg
7.550 kg 8 kg
9kg 800g 10 kg
6.550 kg 6.5 kg
39.870¢. 40 ¢
£3:35
=28 © =7 84p

How many degrees in each of the angles x and y?

@

D

(a) the angles

(b) the sides,

Find the missing angle in each of the triangles.
Then name each triangle according to

D) GaN\ ANGLES IN (a) NAME OF (b) NAME OF
V 4 f\ > TRIANGLE TRIANGLE TRIANGLE
' * NG (ANGLES) (SIDES)

K 322 587902 right-angled scalene
469 || 522 [182° acute-angled scalene
anglex 283° angle x  135° anglex 137° 60° | 60° | 60° | acute-angled equilateral
angley  45° angley 43° 17° [125°| 38° | obtuse-angled scalene
=3 57° | 57° | 66° | acute-angled isosceles
E Q' \/ Y(\ o]
’ : @ 130°

(i20f

5o 68°

(a) the rhombus
(c) the parallelogram

_60°

find the angle xin _o0°

(b) the trapezium

(d) the irregular quadrilateral

1252

132°

:

Give the unit of measurement in the answer
for each example.

perimeter of square 36 cm
L0 2
9 area of square 81 cm
perimeter of
— ., rectangle 20.6 cm
K_\—)II 3 area of
83m rectangle 16.6 cm?
area of triangle 64 cm’
“mr’l diameter of circle 10 cm
circumference of
circle 31.4cm
C=ndor2nr
n= 314
How many cm cubes
() fit into the
45

bottom of the box

§ (b) fill the box? 180

47

Write the missing measurement in each of the

squares or rectangles.

Area 50m? ]121.5cm’| 25em’ 16 m?
Length 5m 135cm | 10cm 32m
Breadth 10m 9 cm 2.5 cm 50cm |

\Write the missing measurement in each of the triangles.

Base 16 cm 45 m 10 cm 12 cm
Height 8cm 12m 18 crn2 7 cm2
Gaam | 270m’ | 90cm’ | 42cm
Area
Write the missing radius of diameter.
radius 153 cm | 18mm 49cm | 276cm
diameter| 30.6 cm 36 mm g8cm | 552am
i i of a circle when
zm—d ‘;hfrrflrcur;]l‘elg%ngg’l r=45cm w
boxes.
[ he volume of each of these
E:gtth 13 cm, breadth 8 cm, height 2 cm 27[}:]?j cm;
th 4 cm, height 2.5<m cm
length 7 cm, bread SO

cube of 6 cm side




